

## ON THE DIVERGENCE OF LAGRANGE INTERPOLATION PROCESSES

by

ALEXANDRU-IOAN MITREA

(Cluj-Napoca)

The paper deals with some aspects of the divergence of Lagrange interpolation processes. A series of studies on this problem are quite old, most of the results are classical by now. In the last years, several new results and theorems have been obtained. They have been favorised by the theorem discovered by P. Erdős [2]. A new proof of this theorem was recently published in [3]. Among the most important works on this subject, the results obtained by S. S. Pilipčuk [4], [5], [6], [7], A. A. Privalov [9], [10], L. P. Povčun [8] must be mentioned. A result on the same topic was obtained by I. Muntean and S. Cobzaş [1], using a principle of a double condensation of singularities.

In this paper, a result related to the theorem of S. S. Pilipčuk from [4] is essentially pointed out. In the first part of the paper, some properties on which the proof of the fundamental theorem is based are presented.

**I.** Let  $C[\alpha, \beta]$  denote the set of all real continuous functions on the interval  $[\alpha, \beta]$ , where  $\alpha, \beta \in \mathbf{R}$ ,  $\alpha < \beta$ , and let  $f: [\alpha, \beta] \rightarrow \mathbf{R}$ .

We define  $R_f = \{x \in [\alpha, \beta] : f(x) = 0\}$ . Let  $a \in [\alpha, \beta]$ . Denote by  $G(a, \alpha, \beta)$  the set of all functions  $f: [\alpha, \beta] \rightarrow \mathbf{R}$  which have the following properties :

- (i)  $f \in C[\alpha, \beta]$ .
- (ii)  $R_f = \{a\}$ .
- (iii) There exists  $\delta > 0$  so that  $f$  is strictly monotonic on the intervals  $[a - \delta, a] \cap [\alpha, \beta]$  and  $[a, a + \delta] \cap [\alpha, \beta]$ .

*Remark.* If  $f \in G(a, \alpha, \beta)$ , then  $|f| \in G(a, \alpha, \beta)$ .

The following lemma is valid :

LEMMA. If  $h \in G(0, 0, 1)$ , then  $\lim_{t \rightarrow 0} h^2(t) \int_t^1 (h(\tau))^{-1} d\tau = 0$ .

*Proof.* Since  $R_h = \{0\}$  and  $h$  is continuous, we have either  $h(x) > 0$ , or  $h(x) < 0$ ,  $\forall x \in ]0, 1[$ . Consider the first situation. From the hypothesis of Lemma, it follows that there is a point  $\delta \in ]0, 1[$  so that  $h$  is a strictly increasing function on  $[0, \delta]$ . There exists two points  $\xi \in ]t, \delta[$  and  $\eta \in ]\delta, 1[$  (for  $\delta < 1$ ) so that  $0 < h^2(t) \int_t^1 (h(\tau))^{-1} d\tau = h^2(t) \int_t^\delta (h(\tau))^{-1} d\tau + h^2(t) \int_\delta^1 (h(\tau))^{-1} d\tau = h^2(t) \left[ \frac{h(t)}{h(\xi)} (\delta - t) + (1 - \delta) \frac{h(t)}{h(\eta)} \right] < h(t) \left[ \delta - t + (1 - \delta) \frac{h(t)}{h(\eta)} \right]$ .

Letting  $t \rightarrow 0$ , the conclusion follows.

*Remark 1.* The condition (iii) from the definition of  $G(0, 0, 1)$  is essential for the conclusion of Lemma.

Consider  $g: ]0, 1[ \rightarrow \mathbf{R}$ ,  $g\left(\frac{1}{n}\right) = n$ ,  $\forall n \in \mathbf{N}$ ,  $g\left(\frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right)\right) = n^3$ ,  $\forall n \in \mathbf{N}$ ,  $n \geq 2$  and  $g$  linear on the intervals  $\left[\frac{1}{n}, \frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right)\right]$  and  $\left[\frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right), \frac{1}{n-1}\right]$ ,  $\forall n \in \mathbf{N}$ ,  $n \geq 2$ . The function  $h: [0, 1] \rightarrow \mathbf{R}$ ,  $h(0) = 0$ ,  $h(x) = (g(x))^{-1}$ ,  $x \in ]0, 1[$ , has the following properties: (1°)  $R_h = \{0\}$ ; (2°)  $h \in C[0, 1]$ ; (3°)  $h$  is not monotonic on any interval  $[0, \delta]$ ,  $0 < \delta \leq 1$ ; (4°)  $\lim_{t \rightarrow 0} h^2(t) \int_t^1 (h(\tau))^{-1} d\tau \neq 0$ .

Indeed, (1°) is obvious. In order to prove (2°), it suffices to show that  $h$  is continuous in  $x_0 = 0$  (since  $g$  is continuous). Let  $(x_n)$  be a sequence of numbers such that  $x_n \rightarrow 0$  and  $x_n > 0$ . There exists  $k_n \in \mathbf{N}$ ,  $k_n \geq 2$  so that  $x_n \in \left[\frac{1}{k_n}, \frac{1}{k_n-1}\right]$ . We have  $g(x_n) \geq g\left(\frac{1}{k_n-1}\right)$ , hence  $0 < h(x_n) < h\left(\frac{1}{k_n-1}\right) = \frac{1}{k_n-1}$ . Since  $x_n \rightarrow 0$ , we have  $k_n \rightarrow \infty$  and thus  $h(x_n) \rightarrow 0$ .

To prove (3°), suppose (3°) is false. Then there exists some  $\delta_0 \in ]0, 1[$ , such that  $h$  is monotonic on  $[0, \delta_0]$ . Since  $h(0) = 0$  and  $h(\delta_0) > 0$ , it follows that  $h$  is increasing on  $[0, \delta_0]$ . Let  $n_0 \in \mathbf{N}$  so that  $(n_0 - 1)^{-1} < \delta_0$ . From  $\frac{1}{n_0} < \frac{1}{2}\left(\frac{1}{n_0} + \frac{1}{n_0-1}\right) < \frac{1}{n_0-1} < \delta_0$ , we have  $h\left(\frac{1}{n_0}\right) < h\left(\frac{1}{2}\left(\frac{1}{n_0} + \frac{1}{n_0-1}\right)\right)$  or  $\frac{1}{n_0} < \frac{1}{n_0^3}$ , which is a contradiction.

Finally, let's show that  $\lim_{t \rightarrow 0} h^2(t) \int_t^1 (h(\tau))^{-1} d\tau \neq 0$ .

It is enough to exist a sequence  $(x_n)$ ,  $x_n \in ]0, 1[$  so that  $x_n \rightarrow 0$  and

$$\lim_{n \rightarrow \infty} h^2(x_n) \int_{x_n}^1 (h(\tau))^{-1} d\tau \neq 0.$$

Taking  $x_n = \frac{1}{n}$ , we have

$$\int_{x_n}^1 (h(\tau))^{-1} d\tau = \sum_{k=2}^n \left[ \int_{\frac{1}{k}}^{\frac{1}{2}\left(\frac{1}{k} + \frac{1}{k-1}\right)} g(\tau) d\tau + \int_{\frac{1}{2}\left(\frac{1}{k} + \frac{1}{k-1}\right)}^{\frac{1}{k-1}} g(\tau) d\tau \right].$$

Since  $g(t) = 2n^2(n-1)^2(n+1)t - 2n(n-1)^2(n+1) + n$ , for  $t \in \left[\frac{1}{n}, \frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right)\right]$  and  $g(t) = -2n^2(n-1)^2(n-2)t + 2n^2(n-1)(n-2) + n - 1$ , for  $t \in \left[\frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right), \frac{1}{n-1}\right]$ ,  $n \geq 2$ , we obtain:

$$\int_{x_n}^1 (h(\tau))^{-1} d\tau = \sum_{k=2}^n a_k, \text{ where } a_k = \frac{1}{2}k - \frac{1}{4} + \frac{1}{2}\left(\frac{1}{k} + \frac{1}{k-1}\right).$$

Then,

$$\lim_{n \rightarrow \infty} h^2(x_n) \int_{x_n}^1 (h(\tau))^{-1} d\tau = \lim_{n \rightarrow \infty} \frac{1}{n^2} \sum_{k=2}^n a_k = \lim_{n \rightarrow \infty} \frac{a_{n+1}}{2n+1} = \frac{1}{4} \neq 0.$$

*Remark 2.* The condition (iii) from the definition of  $G(0, 0, 1)$  is not necessary for the conclusion of Lemma.

Indeed, the function  $h: [0, 1] \rightarrow \mathbf{R}$ ,  $h(0) = 0$ ,  $h\left(\frac{1}{n}\right) = \frac{1}{n}$ ,  $n \in \mathbf{N}$ ,  $h\left(\frac{1}{2}\left(\frac{1}{n} + \frac{1}{n-1}\right)\right) = \frac{1}{2n}$ ,  $n \in \mathbf{N}$ ,  $n \geq 2$  and  $h$  linear elsewhere, has the properties:

(1°)  $R_h = \{0\}$ ;

(2°)  $h \in C[0, 1]$ ;

(3°)  $h$  is not monotonic on any interval  $[0, \delta]$ , where  $\delta \in ]0, 1[$ ;

(4°)  $\lim_{t \rightarrow 0} h^2(t) \int_t^1 (h(\tau))^{-1} d\tau = 0$ .

It is clear that (1°) holds. To prove (2°) it is enough to show that  $h$  is continuous in  $x = 0$ . Let  $x_n \rightarrow 0, x_n > 0$ . There exists  $k_n \in \mathbf{N}, k_n \geq 2$  such that  $x_n \in \left[\frac{1}{k_n}, \frac{1}{k_n - 1}\right]$ . We have  $0 \leq h(x_n) \leq h\left(\frac{1}{k_n - 1}\right) = \frac{1}{k_n - 1}$ . Since  $x_n \rightarrow 0$ , it follows that  $k_n \rightarrow \infty$  and thus  $h(x_n) \rightarrow 0$ , as  $n \rightarrow \infty$  which shows that  $h$  is continuous in  $x = 0$ .

In order to prove (3°), let's suppose that there exists  $\delta_0 \in ]0, 1]$  so that  $h$  is monotonic on  $[0, \delta_0]$ . Since  $h(\delta_0) > 0$ , it follows that  $h$  is increasing on  $[0, \delta_0]$ . Choose  $n_0 \in \mathbf{N}$  so that  $(n_0 - 1)^{-1} < \delta_0$ . Since  $\frac{1}{n_0} < \frac{1}{2} \left(\frac{1}{n_0} + \frac{1}{n_0 - 1}\right) < \frac{1}{n_0 - 1} < \delta_0$ , we have  $h\left(\frac{1}{n_0}\right) < h\left(\frac{1}{2} \left(\frac{1}{n_0} + \frac{1}{n_0 - 1}\right)\right)$  or  $\frac{1}{n_0} < \frac{1}{2n_0}$ , a contradiction.

To prove (4°), let  $x_n \rightarrow 0, x_n > 0$ . There exists  $k_n \in \mathbf{N}, k_n \geq 2$  such that  $x_n \in \left[\frac{1}{k_n}, \frac{1}{k_n - 1}\right]$ . We have

$$h^2(x_n) \int_{x_n}^1 (h(\tau))^{-1} d\tau \leq h^2(x_n) \int_{\frac{1}{k_n}}^1 (h(\tau))^{-1} d\tau = h^2(x_n) \sum_{j=2}^{k_n} \int_{\frac{1}{j}}^{\frac{1}{j-1}} (h(\tau))^{-1} d\tau.$$

Since  $h(t) \geq \frac{1}{2j}, \forall t \in \left[\frac{1}{j}, \frac{1}{j-1}\right]$ , we obtain

$$0 \leq h^2(x_n) \cdot \int_{x_n}^1 (h(\tau))^{-1} d\tau \leq h^2(x_n) \sum_{j=2}^{k_n} 2j \left(\frac{1}{j-1} - \frac{1}{j}\right) \leq \frac{1}{(k_n - 1)^2} \sum_{j=2}^{k_n} \frac{2}{j-1} \leq \frac{2(k_n - 1)}{(k_n - 1)^2} = \frac{2}{k_n - 1}.$$

Letting  $n \rightarrow \infty$ , (4°) follows, since  $k_n \rightarrow \infty$ .

*Remark 3.* The condition (ii) may be replaced by the condition: (ii') The set  $R_f$  is not empty and contains a finite number of elements, then formulating for each  $a \in R_f$  one condition of the type (iii).

*Remark 4.* If the hypothesis of Lemma holds, it can be proved that

$$\lim_{t \rightarrow 0} h^\alpha(t) \cdot \int_t^1 (h(\tau))^{-1} d\tau = 0, \forall \alpha > 1; \text{ for } \alpha = 1, \text{ the statement is false.}$$

**COROLLARY 1.** If  $g \in G(x_0, -1, 1)$ , then:

$$\lim_{\substack{x \rightarrow x_0 \\ x < x_0}} g^2(x) \cdot \int_{-1}^x |g(t)|^{-1} dt = 0, \text{ for } x_0 \neq -1 \text{ and}$$

$$\lim_{\substack{x \rightarrow x_0 \\ x > x_0}} g^2(x) \cdot \int_x^1 |g(t)|^{-1} dt = 0, \text{ for } x_0 \neq 1.$$

*Proof.* In the first case, we define  $s: [0, 1] \rightarrow [-1, x_0], s(t) = (-1 - x_0)t + x_0$ . The function  $h = |g| \circ s$  satisfies the hypothesis of Lemma and thus

$$\lim_{t \rightarrow \infty} h^2(t) \int_0^1 (h(\tau))^{-1} d\tau = 0.$$

The change of variables on the integral defined by  $\tau = s^{-1}(u)$ , implies the first equality, where  $x = s(t)$ .

In the second case, we define  $s: [0, 1] \rightarrow [x_0, 1], s(t) = (1 - x_0)t + x_0$  and  $h = |g| \circ s$ .

**COROLLARY 2.** If  $g \in G(x_0, -1, 1)$  and  $x_0 \neq \pm 1$ , then

$$\lim_{\varepsilon \rightarrow 0, \varepsilon > 0} g^2(x_0 - \varepsilon) \int_{-1}^{x_0 - \varepsilon} |g(t)|^{-1} dt = 0, \lim_{\varepsilon \rightarrow 0, \varepsilon > 0} g^2(x_0 + \varepsilon) \int_{x_0 + \varepsilon}^1 |g(t)|^{-1} dt = 0$$

and

$$\lim_{\varepsilon \rightarrow 0, \varepsilon > 0} \int_{x_0 - \varepsilon}^{x_0 + \varepsilon} |g(t)| dt = 0.$$

*Proof.* The first two equalities follow from Corollary 1, putting  $x_0 - x = \varepsilon$ , respectively  $x - x_0 = \varepsilon$ , and the last one from the relation:

$$0 < \int_{x_0 - \varepsilon}^{x_0 + \varepsilon} |g(t)| dt \leq 2\varepsilon \cdot \max\{|g(x)| : x \in [-1, 1]\}.$$

**II.** Let  $\mathfrak{M}$  be a triangular infinite matrix of nodes in the interval  $[-1, 1], -1 \leq x_n^1 < x_n^2 < x_n^3 < \dots < x_n^n \leq 1, n = 1, 2, 3, \dots$ . Let  $f: [-1, 1] \rightarrow \mathbf{R}$ . We put  $\omega_n(x) = \prod_{k=1}^n (x - x_n^k), l_n^k(\mathfrak{M}; x) = \omega_n(x) [\omega_n^k(x_n^k) (x - x_n^k)]^{-1}$ ,

$$L_n(\mathfrak{M}; f; x) = \sum_{k=1}^n f(x_n^k) \cdot l_n^k(\mathfrak{M}; x),$$

$$L_n(\mathfrak{M}; x) = \sum_{k=1}^n |l_n^k(\mathfrak{M}; x)|, d_n = \min\{|x_n^{k+1} - x_n^k| : 1 \leq k \leq n-1\}.$$

Since  $\sum_{k=1}^n l_n^k(\mathfrak{M}; x) = 1, \forall n \in \mathbf{N}, \forall x \in [-1, 1]$ , we have:

$$(1) \quad L_n(\mathfrak{M}; x) \geq 1, \forall n = 1, 2, 3, \dots, \forall x \in [-1, 1].$$

In [4], S. S. Pilipčuk shows that there is a set  $E = E(\mathfrak{M})$ ,  $E \subset [-1, 1]$ ,  $m(E) = 2$ , so that for every point  $x_0 \in E$ , there exists a function  $f \in C[-1, 1]$  which has the properties:

$$(2) \quad f(x_0) = 0,$$

$$(3) \quad \int_{-1}^1 |f(x)(x - x_0)^{-1}| dx < \infty,$$

and

$$(4) \quad \limsup_{n \rightarrow \infty} |L_n(\mathfrak{M}; f; x_0)| = +\infty.$$

In the same paper, the following remark has been made: for matrices  $\mathfrak{M}$  which have the property that for infinite sequences  $(n_i)$  and for every  $\varepsilon \in ]0, \frac{2}{3}[$ , the following inequality holds:

$\max \{|l_n^k(\mathfrak{M}, x)| : -1 + \varepsilon \leq x \leq 1 - \varepsilon\} \leq C$ ,  $1 \leq k \leq n_i$ ,  $i = 1, 2, 3, \dots$ , there exists a set  $E = E(\mathfrak{M})$ ,  $E \subset [-1, 1]$ ,  $m(E) > 2 - 3\varepsilon$  so that for every point  $x_0 \in E$  there is a nonnegative function  $f \in C[-1, 1]$ , which satisfies (2), (3), (4).

In connection with these statements, we will prove the following theorem:

**THEOREM** *If  $\mathfrak{M}$  is a triangular infinite matrix of nodes in the interval  $[-1, 1]$ , then there exists a set  $E \subset ]-1, 1[$  with  $m(E) = 2$ , so that for every  $x_0 \in E$  and for every function  $g \in G(x_0, -1, 1)$ , there exists a function  $f: [-1, 1] \rightarrow \mathbf{R}$  which satisfies the following properties:*

$$(1^\circ) \quad f(x_0) = 0$$

$$(2^\circ) \quad f(x) > 0, \quad \forall x \in [-1, 1], \quad x \neq x_0,$$

$$(3^\circ) \quad f \in C[-1, 1],$$

$$(4^\circ) \quad \int_{-1}^1 f(x) \cdot |g(x)|^{-1} dx < \infty,$$

$$(5^\circ) \quad \limsup_{n \rightarrow \infty} |L_n(\mathfrak{M}; f; x_0)| = +\infty.$$

*Proof.* We shall divide the proof into five steps.

(II.1) There exists a set  $E \subset ]-1, 1[$  with  $m(E) = 2$  so that for every  $x \in E$  we have  $\limsup_{n \rightarrow \infty} L_n(\mathfrak{M}; x) = +\infty$  (see [2] and [3]).

Let  $x_0 \in E$ . It is easily seen that there is a subsequence  $(L_{n_i}(\mathfrak{M}; x_0))$  of  $(L_n(\mathfrak{M}; x_0))$  so that:

$$(1.i) \quad L_{n_i}(\mathfrak{M}; x_0) < L_{n_{i_2}}(\mathfrak{M}; x_0), \quad \forall i_1 < i_2,$$

$$(1.ii) \quad L_{n_i}(\mathfrak{M}; x_0) > (4i + 1)^2, \quad \forall i \in \mathbf{N},$$

$$(1.iii) \quad \sum_{i=1}^{\infty} [L_{n_i}(\mathfrak{M}; x_0)]^{-\frac{1}{2}} < 1$$

$$(1.iv) \quad L_{n_i}(\mathfrak{M}; x_0) \sum_{k=i+1}^{\infty} [L_{n_k}(\mathfrak{M}; x_0)]^{-\frac{1}{2}} < 1, \quad \forall i \in \mathbf{N}.$$

(II.2) Let  $n_i$  be given. Since  $x_0 \neq x_{n_i}^k$ ,  $\forall k \in \{1, \dots, n_i\}$  (otherwise (1.iii) will be false), there exists  $p_i \in \mathbf{N}$  such that  $x_{n_i}^{p_i} < x_0 < x_{n_i}^{p_i+1}$  (we put  $x_{n_i}^0 = -1$ , if  $x_{n_i}^1 > -1$ , and  $x_{n_i}^{n_i+1} = 1$ , if  $x_{n_i}^{n_i} < 1$ ).

Let  $g \in G(x_0, -1, 1)$  and  $\beta_i = \min\{|g(x_{n_i}^k)| : 1 \leq k \leq n_i\}$ .

By the continuity of  $g$ , there is a  $\delta'_i > 0$ , so that  $\forall x \in [x_{n_i}^k - \delta'_i, x_{n_i}^k + \delta'_i]$ ,  $1 \leq k \leq n_i$ , we have  $|g(x)| > 2^{-1} \cdot \beta_i$ .

Put  $\delta_i = 2^{-1} \min\{\delta_{n_i}, x_0 - x_{n_i}^{p_i}, x_{n_i}^{p_i+1} - x_0, \delta'_i, (2n_i)^{-1} \cdot \beta_i\}$ .

Then we have:

$$(2.1) \quad \forall x \in [x_{n_i}^k - \delta_i, x_{n_i}^k + \delta_i], \quad 1 \leq k \leq n_i : |g(x)|^{-1} \leq 2\beta_i^{-1}$$

$$(2.2) \quad 4n_i \delta_i \beta_i^{-1} \leq 1.$$

By Corollary 2 (of I), by the continuity of  $g$  at  $x_0$  and by the fact that  $g(x_0) = 0$ , there exists  $\varepsilon_i \in \mathbf{R}$  so that:

$$(2.3) \quad \begin{cases} \varepsilon_i > 0, \quad x_0 - \varepsilon_i \geq x_{n_i}^{p_i} + \delta_i, \quad x_0 + \varepsilon_i \leq x_{n_i}^{p_i} - \delta_i, \\ g^2(x_0 - \varepsilon_i) < [L_{n_i}(\mathfrak{M}; x_0)]^{-1}, \quad g^2(x_0 + \varepsilon_i) < [L_{n_i}(\mathfrak{M}; x_0)]^{-1}, \\ g^2(x_0 - \varepsilon_i) \int_{-1}^{x_0 - \varepsilon_i} |g(t)|^{-1} dt \leq 3^{-1} \cdot 2^{-i}, \\ g^2(x_0 + \varepsilon_i) \int_{x_0 + \varepsilon_i}^1 |g(t)|^{-1} dt \leq 3^{-1} \cdot 2^{-i}, \quad \int_{x_0 - \varepsilon_i}^{x_0 + \varepsilon_i} |g(t)| dt \leq 3^{-1} \cdot 2^{-i}. \end{cases}$$

Let

$$A_1 = \{x_{n_i}^k / l_{n_i}^k(\mathfrak{M}; x_0) < 0, \quad 1 \leq k \leq p_i\}, \quad \text{for } p_i \geq 1$$

$$A_2 = \{x_{n_i}^k / l_{n_i}^k(\mathfrak{M}; x_0) < 0, \quad p_i + 1 \leq k \leq n_i\}, \quad \text{for } p_i \leq n_i - 1$$

$$A_3 = \{x_{n_i}^k / l_{n_i}^k(\mathfrak{M}; x_0) > 0, \quad 1 \leq k \leq p_i\}, \quad \text{for } p_i \geq 1$$

$$A_4 = \{x_{n_i}^k / l_{n_i}^k(\mathfrak{M}; x_0) > 0, \quad p_i + 1 \leq k \leq n_i\}, \quad \text{for } p_i \leq n_i - 1.$$

(II.3) Next, we define the functions  $\varphi_{i1} : [-1, 1] \rightarrow \mathbf{R}$ ,

$$\begin{aligned} \varphi_{i2} : [-1, 1] \rightarrow \mathbf{R}, \quad \varphi_i : [-1, 1] \rightarrow \mathbf{R}, \\ \varphi_{i1}(x) = \begin{cases} g^2(x_0 - \varepsilon_i), & \text{for } x \in [-1, x_0 - \varepsilon_i[ \\ g^2(x), & \text{for } x \in [x_0 - \varepsilon_i, x_0 + \varepsilon_i] \\ g^2(x_0 + \varepsilon_i), & \text{for } x \in [x_0 + \varepsilon_i, 1.] \end{cases} \\ \varphi_{i2}(x) = \begin{cases} 0, & \text{for } x \in [-1, 1] \setminus \bigcup_{k=1}^{n_i} [x_{n_i}^k - \delta_i, x_{n_i}^k + \delta_i] \\ [L_{n_i}(\vartheta\pi; x_0)]^{-1} - g^2(x_0 - \varepsilon_i), & \text{for } x \in A_1 \\ [L_{n_i}(\vartheta\pi; x_0)]^{-1} - g^2(x_0 + \varepsilon_i), & \text{for } x \in A_2 \\ [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}} - g^2(x_0 - \varepsilon_i), & \text{for } x \in A_3 \\ [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}} - g^2(x_0 + \varepsilon_i), & \text{for } x \in A_4 \\ \text{linear,} & \text{for the rest} \end{cases} \\ \varphi_i(x) = \varphi_{i1}(x) + \varphi_{i2}(x), \quad \forall x \in [-1, 1]. \end{aligned}$$

We have:

$$(3.1) \quad \varphi_i(x_0) = 0,$$

$$(3.2) \quad \varphi_i \in C[-1, 1]$$

$$(3.3) \quad \varphi_i(x) > 0, \quad \forall x \in [-1, 1], \quad x \neq x_0,$$

$$(3.4) \quad \max \{ \varphi_i(x) : x \in [-1, 1] \} = [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}},$$

$$(3.5) \quad \int_{-1}^1 \varphi_i(x) \cdot |g(x)|^{-1} dx \leq 2^{-i} + [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}}.$$

It is clear that (3.1) and (3.2) hold. Next, (3.3) and (3.4) follow from (1), (2.3) and the definition of  $\varphi_i$ .

Let us establish (3.5). We have:

$$\begin{aligned} \int_{-1}^1 \varphi_i(x) |g(x)|^{-1} dx &= \int_{-1}^1 \varphi_{i1}(x) |g(x)|^{-1} dx + \\ &+ \int_{-1}^1 \varphi_{i2}(x) |g(x)|^{-1} dx = \int_{-1}^{x_0 - \varepsilon_i} g^2(x_0 - \varepsilon_i) |g(x)|^{-1} dx + \end{aligned}$$

$$\begin{aligned} &+ \int_{x_0 - \varepsilon_i}^{x_0 + \varepsilon_i} |g(x)| dx + \int_{x_0 + \varepsilon_i}^1 g^2(x_0 + \varepsilon_i) |g(x)|^{-1} dx + \\ &+ \sum_{k=1}^{n_i} \int_{x_{n_i}^k - \delta_i}^{x_{n_i}^k + \delta_i} \varphi_{i2}(x) |g(x)|^{-1} dx = g^2(x_0 - \varepsilon_i) \int_{-1}^{x_0 - \varepsilon_i} |g(x)|^{-1} dx + \\ &+ \int_{x_0 - \varepsilon_i}^{x_0 + \varepsilon_i} |g(x)| dx + g^2(x_0 + \varepsilon_i) \int_{x_0 + \varepsilon_i}^1 |g(x)|^{-1} dx + \\ &+ \sum_{k=1}^{n_i} \int_{x_{n_i}^k - \delta_i}^{x_{n_i}^k + \delta_i} \varphi_{i2}(x) |g(x)|^{-1} dx. \end{aligned}$$

By (2.1), (2.2), (2.3), (3.4) and  $\varphi_{i2}(x) \leq \varphi_i(x)$ ,  $\forall x \in [-1, 1]$ , we have:

$$\begin{aligned} \int_{-1}^1 \varphi_i(x) |g(x)|^{-1} dx &\leq 3^{-i} \cdot 2^{-i} + 3^{-i} \cdot 2^{-i} + 3^{-i} \cdot 2^{-i} + \\ &+ [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}} \cdot \sum_{k=1}^{n_i} 2 \cdot \beta_i^{-1} \cdot 2\delta_i = \\ &= 2^{-i} + [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}} \cdot 4n_i \delta_i \cdot \beta_i^{-1} \leq 2^{-i} + [L_{n_i}(\vartheta\pi; x_0)]^{-\frac{1}{2}}. \end{aligned}$$

(II.4) Next, we will construct, similarly as in [4], the function  $f$ . Let us consider the sequence  $(n_i)$ . We put  $n_i = n_2$  and we suppose that the numbers  $n_i, n_2, \dots, n_{i_{m-1}}$  are determinated.

We define:

$$(4.1) \quad F_{m-1} : [-1, 1] \rightarrow \mathbf{R}, \quad F_{m-1}(x) = \sum_{j=1}^{m-1} \varphi_{i_j}(x), \quad \forall x \in [-1, 1].$$

If  $\limsup_{n \rightarrow \infty} |L_n(\vartheta\pi; F_{m-1}; x_0)| = +\infty$ , then we put  $n_i = 0$ ,  $f = F_{m-1}$  and Theorem is proved.

Suppose that we have:

$$(4.2) \quad \limsup_{n \rightarrow \infty} |L_n(\vartheta\pi; F_{m-1}; x_0)| = C_m < \infty.$$

Then,

$$(4.3) \quad L_{n_i}(\mathcal{M}; \varphi_i; x_0) = \sum_{k=1}^{n_i} \varphi_i(x_{n_i}^k) l_{n_i}^k(\mathcal{M}; x_0) = \\ = \Sigma_+ \varphi_i(x_{n_i}^k) l_{n_i}^k(\mathcal{M}; x_0) + \Sigma_- \varphi_i(x_{n_i}^k) l_{n_i}^k(\mathcal{M}; x_0)$$

$\forall i \in \mathbb{N}$ , where  $\Sigma_+$  refers to the terms of sum for which  $l_{n_i}^k(\mathcal{M}; x_0) > 0$  and  $\Sigma_-$  refers to the terms of sum for which  $l_{n_i}^k(\mathcal{M}; x_0) < 0$ . It is easily seen that both sums contain effectively the terms.

Now, we put

$$S_+^i = \sum_{k=1, l_{n_i}^k(\mathcal{M}; x_0) > 0}^{n_i} l_{n_i}^k(\mathcal{M}; x_0), \\ S_-^i = \sum_{k=1, l_{n_i}^k(\mathcal{M}; x_0) < 0}^{n_i} l_{n_i}^k(\mathcal{M}; x_0).$$

Since

$$S_+^i + S_-^i = \sum_{k=1}^{n_i} l_{n_i}^k(\mathcal{M}; x_0) = 1$$

and

$$S_+^i - S_-^i = \sum_{k=1}^{n_i} |l_{n_i}^k(\mathcal{M}; x_0)| = L_{n_i}(\mathcal{M}; x_0),$$

we have

$$S_+^i = 2^{-1}[1 + L_{n_i}(\mathcal{M}; x_0)], \quad S_-^i = 2^{-1}[1 - L_{n_i}(\mathcal{M}; x_0)].$$

By (4.3), We obtain, using (1.ii):

$$L_{n_i}(\mathcal{M}; \varphi_i; x_0) = 2^{-1} [(L_{n_i}(\mathcal{M}; x_0))^{-\frac{1}{2}} + (L_{n_i}(\mathcal{M}; x_0))^{\frac{1}{2}} (L_{n_i}(\mathcal{M}; x_0)^{-1} - 1)] \geq \\ \geq 2^{-1} [(L_{n_i}(\mathcal{M}; x_0))^{\frac{1}{2}} - 1] \geq 2i.$$

There exists a number  $i \in \mathbb{N}$ , which we shall denote by  $i_m$ , such that  $i \geq C_m$  and  $i > i_{m+1}$ .

So, we have chosen  $n_{i_m}$  and we have:

$$(4.4) \quad L_{n_{i_m}}(\mathcal{M}; \varphi_{i_m}; x_0) \geq i_m + C_m.$$

Next, suppose that for all the numbers  $m$  we have (4.2). Then, we define:

$$(4.5) \quad f: [-1, 1] \rightarrow \mathbf{R}, \quad f(x) = \sum_{j=1}^{\infty} \varphi_j(x), \quad \forall x \in [-1, 1].$$

By (3.4) and (1.iii), it follows that this definition is correct.

(II.5) Finally, let us show that this function  $f$  has the desired properties (1°)–(5°).

The properties (1°) and (2°) follow from the definition of  $f$ , (3.1) and (3.3).

The achievement of (3°) is proved similarly to that in [4], using (1.iii), (3.4) and (3.2).

Referring to (4°), using the respective arguments from [4] and the relations (3.5) and (1.iii) we obtain

$$\int_{-1}^1 f(x) \cdot |g(x)|^{-1} dx \leq 2 < \infty.$$

The property (5°) follows from the linearity of  $L_{n_m}$  and the relations (4.4), (4.5), (4.2), (1.iv), (3.4). More precisely, it is shown as in [4] that  $|L_{n_m}(\mathcal{M}; f; x_0)| > i_m - 1$ . Now, letting  $m \rightarrow \infty$ , we obtain  $\limsup_{n \rightarrow \infty} L_n(\mathcal{M}; f; x_0) = +\infty$ , which completes the proof.

*Remark.* A similar argument, but simpler, shows that under the hypothesis of Theorem, there is a set  $E \subset ]-1, 1[$ ,  $m(E) < 2$ , so that  $\forall x_0 \in E$ ,  $\forall g \in G(x_0, -1, 1) \exists f \in C[-1, 1]$ , which satisfies the properties (1°), (5°) and

$$\int_{-1}^1 |f(x)| \cdot |g(x)|^{-1} dx < \infty.$$

#### REFERENCES

- [1] Cobzas, S. and Muntean, I., *Condensation of singularities and Divergence Results in Approximation Theory.*, J. of Approximation Theory, **31**, 138–153 (1981).
- [2] Erdős, P., *Problems and results on the theory of interpolation*, I, Acta Math. Acad. Sci. Hungar, **9**, 381–388, (1958).
- [3] Erdős, P. and Vértesi, P., *On the almost everywhere divergence of Lagrange interpolatory polynomials for arbitrary system of nodes*, Acta Math. Acad. Sci. Hungar, **36** (1980), 71–89. Corrections, *ibid.*, **38**, 263 (1981).
- [4] Pilipčuk, S. S., *The divergence of the Lagrange interpolation processes* (Russian), Izv. Vysš. Učebn. Zaved, Matematika, no. 9, 43–47, (1975).
- [5] Pilipčuk, S. S., *The divergence of the Lagrange interpolation processes on a set of second category* (Russian), Izv. Vysš. Učebn. Zaved. Matematika nr. 3, 45–52, (1979).

- [6] Pilipčuk, S. S., *Tests for the convergence of interpolation processes* (Russian), *Izv. Vysš. Učebn. Zaved. Matematika no. 12*, 39–44, (1979).
- [7] Pilipčuk, S. S., *Convergence of Lagrange interpolational processes with respect to Jacobi nodes* (Russian), *Azerbaidžan. Gos. Univ. Učen. Zap. no. 1*, 60–70, (1979).
- [8] Povčun, L. P., *The Divergence of interpolation process at a fixed point* (Russian), *Izv. Vysš. Učebn. Zaved. Matematika no. 3*, 56–60, (1978).
- [9] Privalov, A. A., *The divergence of Lagrange interpolation processes with respect to Jacobi nodes on a set of positive measure* (Russian), *Sibirsk. Mat. Ž. 17*, 837–859, (1976).
- [10] Privalov, A. A., *Approximation of functions by interpolation polynomials, „Fourier analysis and approximation theory”* (Proc. Colloq. Budapest, 1976), vol. II, 659–670, *Colloq. Math. Soc. János Bolyai*, 19, North-Holland, Amsterdam, 1978.

(Received 8.II.1983.

*Institutul politehnic  
3400 Cluj-Napoca*